4 PEAKTRONICS

MKT-107

Actuator Controls Mounting Kit

ASSEMBLY DIAGRAM

RCS Group 9 Models DCR/MAR-10, -50, -90 Actuators

] H S
@ E POT HEX NUT—@ B or B1
C & E POT LOCKWASHER — <
C h STANDARD
@ \@é\ CONTROLLER
@K I
=
C@@\E LD
(@ \
IS
B or B1 o) o3

O

| 1
or POTENTIOMETER

A o
INSULATING SHEET ° O)\
S F
+L or
F
FEEDBACK
FEEDBACK F1
TRANSMITTER

ACTUATOR

www.peaktronics.com
Clawson, MI 48017 Phone (248) 542-5640 FAX (248) 542-5643

PEAKTRONICS, Inc. 1363 Anderson

=

TERMINAL STRIP

and

TAG o C
<~ _@C

lonedo —

y — termina #1

—c
‘ MOTOR

s

800-68H page 1




MKT-107

not shown
not shown
not shown
not shown
not shown
not shown
not shown
not shown

QTY

NRPRRPRRPRPRRRPRPEPNNRANONNPR

KIT CONTENTS

= @ -
D

DESCRIPTION

positioner bracket

F1

#10-24 X 2.25" socket head cap screw

#10-24 X 2" socket head cap screw
#6-32 X 0.375" pan head screw
#10 split ring lockwasher

#6 split ring lockwasher

1.75" round spacer

1.44" round spacer

output shaft gear

potentiometer gear

potentiometer anti-slip washer

3

ii

[

2

0

[

#6-32 X 0.375" socket head cap screw (for mounting transmitter)
#6 X 0.25" dia X 0.312" long nylon spacer (for auxiliary switch mounting)

11" yellow wire w/fork terminal
11" black wire w/fork terminal
11" red wire w/fork terminal

11" brown wire w/fork terminal (used on DC units only)
11" blue wire w/fork terminal (used on DC units only)

6.3" nylontiewrap

* Use these parts when mounting in actuators with a NEMA 7 cover. Note that only one auxiliary switch can be used when these

partsareinstalled.

www.peaktronics.com

PEAKTRONICS, Inc.

1363 Anderson

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-68H page 2



MKT-107

page 3

800-68H

o) 1)
= =T NOWWOD AV 13
._w © 1NO L1Nv4
o) ® 1NO N3O XNV
(euondo) ainpoN Aepy/ieniwsiell 00T-H10 | 2 ®
(feuondo) aNpo A Jeniwsuel] QOT-X10 ® 1NO 3SO10 XNV
anNo 1VYNDIS
@ ndino yw | Jojuow
Yoeqpsey [ —
........... @- indino A ._ +
£
o
@ *PUIRH ©
ndino AGT+ 1900} [03]03UU0d g
d313INOILN3ILOd 9( Ued spunois) BI0N =
Movaa3a- O ndino AT S
2¢0T-10d =
O) ), : 7 S
asd NOT/S-0 ‘AS-T rubs 3
4| puewwod [_—
JLIHM ® ©, VW0Z b ;
8 MOovd ® ® aNoD TVYNDIS
c
2 ® ® ®
10d0 pUe S50P 10 LOIRIGIRD m o a3y 5 5 ANS H1dv3 Q
Burnnp s A|ea1RWOINE T 4 4
s1 Bunge asAa) Jo Bunge 1911g m MOTTIA aNIT T ;
QD
@a © MOovd O, © IVELNAN 27
° Uy N

d00T-OHA OVAYZ
VOOT-OHA JVAPEL
00T-OHA OVALIT

SI0eNPY 06- ‘05- ‘0T-dVIN SPPON 6 dnoio SOY ANVHOVIA ONIFIM

SHANOILISOd 1V1I191d OV

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

PEAKTRONICS, Inc.



MKT-107

(feuondo) “Jeniwsue.l) aJim 0}
HILLINSNYYL | SOHIM COT-10d SS89X0 38N
Movaa3ad
ONILOV ISHIAIY ONILOV 10341d — Omﬂw“w mmﬁ«xm
uolow Joreniae uoljow Jorenide ®®®®®
Joliuow
3LIHM 1| oreapesy | —
MOV g a3y
Ywio¢ Ywog
£
® indino Avz+ m
Y313WOILNILO Y31IWOILNILO 2
Movaa3ad MOvaa3ad a0 e 5
¢0T-10d ¢0T-10d 5 5 M
Movd a3y © © AOT-0 1 leubis o ot
+| puewwod | —
ALIHM 3LIHM a5, © WOz | AG-T ;
8 a3y 8 Movg a2 ® ano 1YNDIS
c c
g o}
5] © MoV g S ® a3d ®© ® aNS H1dv3 g
o) o)
3 © MOTT1IA 3 © MOTTIA © © ANIT T ;
- >
S5 QD
@a ® a3y @ © Movg © © IVdLN3aN 21
° ° r o

page 4

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-68H

1363 Anderson

JT0T-0d71 / dTOT-ONY / J00T-OINV DV AVZ
a10T-04d71/ D00T-ONV DOVAPEL
VTIO0T-O471/ VOOT-ONVY OVALTT

SIOENRY 06- 05~ ‘0T-dV/IN SPPOIN 6 dnoio SO
(prepuers) SYIANOILISOd I1vY 9071/ D0OTVYNY OV

NVHOVIA ONIFIM

PEAKTRONICS, Inc.



MKT-107

A_mco_uaov "eniwsuel] allim 0]
ONILOV ISHINIA ONILOV 103dId YALLIASNYYL | S°HM C0T-10d SSeoxe ssn
AOvdd33d
uolow Jorenioe uoljow Jorenie T M — i <C._ON _V mo._” <_>_X
Jojluow
ALIHM +| >roeqpsey [—
W0z V0Z AOV1d a3d
dus puiwel Jorenide dus pulwe) Joenioe @\ + _ _ _ _ _ |Wﬁ\ .
NIT N3dO @) 1735010 Q) @ SOd 1vd 2anverr | ! J
Nag[~ | Nmoua nia[=~’ anig ®
W17 35010 @ INIT N3dO @ @ 93N 1v4d m
= nig anig = Nud NMOYE ® O O ® 3
13S34 d1dL - ]
° omm@ a3y o v:m_@ Movg ) m
5 5 v@ @ ndino o
ofo @ w/o @ ndino NG+ =
X1g Movg a3y a3y ©) w
A v — o © AOTO/ASO | pUBS ! E
SION 885 34 MOTIEA ©® ._ i
D Av — ® YWozZ-v / AS-T
RETN MOT1IA
9]0\ 99s ¥
3 3 N L ® anNo TVYNDIS
3 -
om 3 a3y zm 8 MoV r®© oo amLs
L D — 3% N OH—— ATNO
= w B JLIHM = w B JLIHM (O'N) dIdLx« 300T-DING / D00T-ONG =
MmMxX N MX
— —
m MOovd m a3y O, © (O'N) dIdL«
c ar

page 5

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-68H

1363 Anderson

1015159y Buniwi abins

SI0ENPY 06- ‘05- ‘0T-4OA SPPON 6 dnoid SOY
SHANOILISOd D0 1TVNY Od

NVHOVIA ONIFIM

PEAKTRONICS, Inc.



MKT-107

page 6

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-68H

1363 Anderson

A_GCO_”_.O_OV “eNliwsuel] alim 0]
ONILOV ISHINIY ONILOV 10341a YILLIASNYYL | S°HM 20T-10d SS80xe 88N
»ovedad AOT/S0 90T-VINX
Y313IWOILNILOd Y¥313IWOILNILOd ASLM — YWOZ-¥ SOT-VINX
SOvea3aH SOvaaIaH D] %1%]%1%)
20T-10d 20T-10d P~
Movg a3y 1| >toeqpesy
ILIHM ILIHM a3
MOovg
a3y Movd
@ ] ndino AvZ+
0y aNo 1YNOIS =
uolnow Joren uonow Jorenixe @ d m
ol Joreniae ol Joreny (©10v/0Q) N30 8
C
(e}
® (01 2Vv/0Q) 3SO1D spubss =
|_| |04JU02D
O (IH OV) N3dO w
N3dO N3dO ® (IHOV) 3010 ~ W
O ownos \ao |
8 8 @ NOWWOD 3SO1D -
c c
g g 1
S © Movd S ® a3y ® ® AN H1dV3
) o)
3 © MOTT3A 3 © MOTT1IA © © aANIT T
> >
Q. (SR
Q ®© a3y @ © Movg O, © L IREN A
= S
c cr
dE0T-INY DVAVZ

VEOT-INVY OVAPEC
€0T-INVY OVALIT

SIORNIY 06- ‘05~ ‘0T-dVIN SPPO 6 dnoio SO
SH3T104d1NOD 440/NO OV

NVHOVIA ONIHIM

PEAKTRONICS, Inc.



MKT-107

ONILOV ISHIANIA

ONILOV 10341d

d313NOILNILOd o

uolow Jorenioe

N3dO

dis euiwe) Joenioe

o [N
v O ovia
O Ndd AuJ
wiTN3do [ Namoug
IC
)
AN mo113A
NIT3SOT10 \mj
z N8 e an1g
c/o Q)
REMA a3y
m
m a3y
S 3
@ 3 <
> JLIHM
09
A~ DN
AOVv1d

uoljow Jorenie
N3dO
Joliuow
duis [eulwa) Joenioe ar [
o a3y D\
T & a3y ©
SR
TRESSA Inag @ @ |_|______|vﬁ\ .
@ ® SOd 1vg oanveret 'Y J
1A moT13IA @
1@ ® OaN Lva
WITN3dO| o @ @ N3dO ._ sfeubs
> Nag[~[ Nmoudg ._ F| oo [T
3 ®
& ) @ 3010
° gl yovig @
3 1NO YWS-Tx
!
om 3 S0V ® ® NOD dIdL
o o © © O OTT-HO
< w B JLIHM (O'N) didL AINO OTOT-INOY «
MX
w a3 © O ovan
TC « er

"Aluo DAAVZ GT-06-40Q PUe 0T-05-40d JLON

OTOT-NOd / VIOT-INOd

SI0ENPY ST-06-¥0A ‘09-05-40d ‘0€-05-¥0a ‘0T-05-40d ‘0T-0T-40d SPPoA 6 dnoio SOY

Sd31T10d1LNOD 440/NO Od

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(]
c
o
<
o
N~
—
(@}
&
s
3
3
O

page 7

1363 Anderson 800-68H

PEAKTRONICS, Inc.



